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Question Number : 1 Question Id : 820051714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
is used for connecting a telephone line with a

computer.

Options:
1+ Modem

> # Hub
= # Gateway
4 % Switch

Question Number : 1 Question Id : 820051714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 2 Question Id : 820051715 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Requests made by the web browsers are responded by

Options:
1. % URL

> « Web Server
=z & HTTP
4 % Web Page

Question Number : 2 Question Id : 820051715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

. % URL Z@RT
. » 39 WA E@RT
. « HTTP g@amr
4 % 99 9 @

Question Number : 3 Question Id : 820051716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Online textual talk. in real time. is called
Options:
; # Downloading

> % Surfing
= « Chatting
4 % Conferencing

Question Number : 3 Question Id : 820051716 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 4 Question Id : 820051717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The e-mail system that supports audio is known as

Options:
1 % Sound mail

> « Voicemail
= % Conversation
4 % Messaging

Question Number : 4 Question Id : 820051717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 820051718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
SIM is an abbreviation used for
Options:



1 = Subscriber Identity for Mobiles
> % System Information for Mobiles
= « Subscriber Identity Module

4 % System Identity Module

Question Number : 5 Question Id : 820051718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
SIM & 9T ATH gl

Options:

|« UEERIEaY HTESfedr B AEsed (Subscriber Identity for Mobiles)
. » THTEH SFRHYIA B A@Eed (System Information for Mobiles)

. v TeEFEaT 3mgsfed ATEg (Subscriber Identity Module)
, x HEHA 3SEfEET ATSTA (System Identity Module)

Question Number : 6 Question Id : 820051719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To run an Excel document on your PC. you have to first install
which of the following?

Options:
1 % Adobe Reader

> « MS-Office
= % VLC Media Player

4 # Games

Question Number : 6 Question Id : 820051719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 7 Question Id : 820051720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following statements i1s CORRECT regarding Freeware?
Options:

1 % It is also known as Free Software



> % It does not permit redistribution
= « It does not permit modification
4 % It is distributed with a minimum licensing fee

Question Number : 7 Question Id : 820051720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 820051721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For selecting all the contents of a page. we press

Options:

1.+ Ctrl+A
o # Alt+A

3 # Shifi+Z
4 % Alt+Z

Question Number : 8 Question Id : 820051721 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.« Ctrl+A
o % Alt+A
3. #® Shift+Z
4 % Alt+Z

Question Number : 9 Question Id : 820051722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ctrl+M provides

Options:

; = highlighting the selected section

> % Inserting link

= % pasting the copied object



4 + indenting the paragraph

Question Number : 9 Question Id : 820051722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 10 Question Id : 820051723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In Internet Explorer, pressing which key puts a moveable cursor on the webpage
enabling you to select text using the keyboard.

Options:
{8 El

> # F3
3. ¥ 7
4 % F38

Question Number : 10 Question Id : 820051723 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. % F1
> ® F3
= « F7
4 % F8

Question Number : 11 Question Id : 820051724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shift+F7

Options:

1 % refreshes the page

- % display the print preview
=  runs a thesaurus check on the word highlighted

4 % saves the document



Question Number : 11 Question Id : 820051724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Shift+F7

Options:
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Question Number : 12 Question Id : 820051725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

.co 1s a domain ID used for
Options:

1 % commercial firms

5 « listed companies
= # NGO's
4 % government organizations

Question Number : 12 Question Id : 820051725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 13 Question Id : 820051726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To redo the last action performed. we press

Options:

1. % Shift+L
> ® Shift+y
3 « CtrHY

4 ®% CoHY+R

Question Number : 13 Question Id : 820051726 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1. % Shift+L
> # Shift+Y
2. « Clri+Y
4 % Ctri+Y+R

Question Number : 14 Question Id : 820051727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The protocol which provides information about text and binary files that are organised
in a menu structure is

Options:

1. ® HTTP

% BT
3. # POP
4 « TCP/P

Question Number : 14 Question Id : 820051727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. % HTTP
> % FTP

z ® POP

4 « TCP/IP

Question Number : 15 Question Id : 820051728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Alt-Enter

Options:

1 = opens the control menu for current window

> « Opens properties window of selected program
= % opens advanced find window
4 % oOpens the run window

Question Number : 15 Question Id : 820051728 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Alt+Enter

Options:
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Question Number : 16 Question Id : 820051729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Excel. the simplest way of moving data from one location to another is by using

Options:
1 % menu commands

5 « drag and drop method
3. % Mouse
4 % shortcut menu

Question Number : 16 Question Id : 820051729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 17 Question Id : 820051730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By using , text can be made more attractive in different colours, size and shape.

Options:

1.« WordArt

= # Picture

= % WordArt text box
4 % Mail Merge

Question Number : 17 Question Id : 820051730 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 820051731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You can organize files by storing them in

Options:
1 % Archives

> « Folders
= % Recycle Bin
4 % Lists

Question Number : 18 Question Id : 820051731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % HRIEes (Archives)
. o PIesd (Folders)

. » @ f&F (Recycle Bin)
4 » TorEeH (Lists)

Question Number : 19 Question Id : 820051732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
By an icon. you can move it on your desktop

Options:
| % pointing

®

u

> % highlighting
= u single clicking

®

4  dragging

Question Number : 19 Question Id : 820051732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 820051733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
enables you to apply predefined layouts to selected tables in an Excel

sheet
Options:
1 # Pnnt Tiles

> # Headers
= « Auto Format
4 % Effects

Question Number : 20 Question Id : 820051733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 ® e €5ed (Print Tiles)
5 B 250 (Headers)
2 eI wiFe (Auto Format)

4 % SWCH (Effects)

Question Number : 21 Question Id : 820051734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a type of Network?

Options:
1 &8 WAN

> # MAN
z % LAN
4 « FAN

Question Number : 21 Question Id : 820051734 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 % WAN
> % MAN
z. % LAN




4« FAN

Question Number : 22 Question Id : 820051735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
One can use any SIM in a GSM mobile phone. This is due to the fact thatitis a
system for mobiles.

Options:
1.+ Global

> # Local
=z # code division
4 % Multimedia

Question Number : 22 Question Id : 820051735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 23 Question Id : 820051736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which protocol provides e-mail facility among different hosts?

Options:
1. ¥ SMTP

=% PIP
3. 8 TELNET

4 % HTTPS

Question Number : 23 Question Id : 820051736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1.« SMTP

= ® FTP

2. % TELNET
4 ® HTTPS



Question Number : 24 Question Id : 820051737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Internet uses

Options:

1« Dpacket switching

> % circuit switching
= % telephone switching
4 % telex switching

Question Number : 24 Question Id : 820051737 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 25 Question Id : 820051738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Transfer of files from user's computer onto the server is
Options:

Downloading

®

3
Sequencing

E

2
z ® Accessing
4

 Uploading

Question Number : 25 Question Id : 820051738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 820051739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
A device which links two networks together is a



Options:

| « Bridge
> % Rectifier
=z % Hub

4 % Switch

Question Number : 26 Question Id : 820051739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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5 % IFCHIAT
3 % 89
4 % BT

Question Number : 27 Question Id : 820051740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A spam is

Options:

1 % a corrosion in motherboard
- « an electronic junk mail

z. % alist of rules
4 % amalicious program

Question Number : 27 Question Id : 820051740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o g 2l

Options:
| % ASIEE 9T o ST

ot = LY
-  Soldcllelsh Sleh Hol

. w [T FroEE
4_w§sﬁam{ﬁrm

Question Number : 28 Question Id : 820051741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In an office. for connecting different computers. which device must be used?

Options:
1 % Modem

> « Hub



= = Telephone
4 % Amplifier

Question Number : 28 Question Id : 820051741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 29 Question Id : 820051742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A router acts like a
Options:

1. % Hub

<> # Switch
=  Bridge

4 % Repeater

Question Number : 29 Question Id : 820051742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 820051743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the name of the program or the service that lets you view e-mail messages?

Options:

1. % web browser
> « e-mail client
= % e-mail ID

4. ® Internet



Question Number : 30 Question Id : 820051743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

2 A FART
- % 3Ha D
4 # SeeleT

Question Number : 31 Question Id : 820051744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The server on the Internet is also known as
Options:

1 % Router

> « Host
= # Gateway

4 % DBrowser

Question Number : 31 Question Id : 820051744 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 32 Question Id : 820051745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A word in a webpage. when clicked. opens another document called the

Options:
1. % Anchor

5 « Hyperlink
= ®B Pop Up
4 % URL

Question Number : 32 Question Id : 820051745 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 33 Question Id : 820051746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A two way videophone conversation can be carried out by

Options:
1 = Telephonic Conference

5 R Chatting
=  Video Conferencing
4 % Video Player

Question Number : 33 Question Id : 820051746 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 34 Question Id : 820051747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A technology that divides a radio frequency into time slots is

Options:
1. % TDMA

> # CDMA
z % WLL
4 % Switching

Question Number : 34 Question Id : 820051747 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. ¢ TDMA
> ® CDMA
3. % WLL

4_&3%

Question Number : 35 Question Id : 820051748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
While sending an e-mail. the line lets you add recipients for a message.

Options:
1. WA

> % Subject
=z # Contents

4 % Attachments

Question Number : 35 Question Id : 820051748 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 36 Question Id : 820051749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Central Processing Unit

Options:
% 1s operated from control panel.

> % 1s controlled by input data
= % controls only the storage
4+ controls all input, output and processing

Question Number : 36 Question Id : 820051749 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Options:
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Question Number : 37 Question Id : 820051750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following utility speeds up the disk by rearranging the files and free
space on the system?

Options:
1 # Anti-Virus

> # Text Editor
=  Disk Defragmentator

4 % Compression utility

Question Number : 37 Question Id : 820051750 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 38 Question Id : 820051751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
All the logical operations are carried out by

Options:
1. ALU

=~ # Control Unit
= % Monitor
4 % Plotter

Question Number : 38 Question Id : 820051751 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 39 Question Id : 820051752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
server stores and manage files for network.

Options:
1 % Authentication

> % Proxy
% % Application

4 « File

Question Number : 39 Question Id : 820051752 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T, Acad F AT BEdl & T HGr &
i 5= A= Far B

Options:

1% smeifesere
5 s Wl

5 % TCRlThere

4 PIged

Question Number : 40 Question Id : 820051753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Files when deleted from the computer are moved to

Options:
1. ® Drafts

> # Outbox
= % My documents

4 « Recycle Bin

Question Number : 40 Question Id : 820051753 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 41 Question Id : 820051754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following contains files as well as subfolders?

Options:
1 # File

> # Group
= % Software
4 « Folder

Question Number : 41 Question Id : 820051754 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FET U9 HE-FiesT 2T FH@d § ¥ 59 & a9 &2
Options:

1. % PIgel

2&3?

z K THTW
4 RIesT

Question Number : 42 Question Id : 820051755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
USB is categorized under Ports. It is used

Options:
; ® to connect internal devices of computer

> % for storing data
= + 10 connect external devices to the computer
4 % for image editing

Question Number : 42 Question Id : 820051755 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 43 Question Id : 820051756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Word. SYMBOL are available on the

Options:
1.+ Insert menu

> % Home menu
- % Page Layout menu

4 % View menu

Question Number : 43 Question Id : 820051756 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

% # HFara T 9o BT g
Options:
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o % A

Question Number : 44 Question Id : 820051757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a non-impact printer?

Options:
1+ Dot Matrix

- # Laser
= » Inkjet

4 % Thermal

Question Number : 44 Question Id : 820051757 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fF=fof@a # @ #iF o a9 s7ee fex 7@ 22
Options:

, v 3ic dfeam

> % BT

3.*637"’_“‘1?

4 % UHA



Question Number : 45 Question Id : 820051758 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Multimedia Software incorporates images, texts. sound, animations etc., whereas the
Graphics Software incorporates only

Options:

1 « Images

> % Sound

=z # Animations

4 ® Video sequences

Question Number : 45 Question Id : 820051758 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FeAHIEar giveday & =9, Tove, W3S, ARy e g §, sef
mfreT TSR & % g gl

Options:

1.9 3731?

> % T3S

T ® TAIHH

4 % AT =T

Question Number : 46 Question Id : 820051759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

To shrink a window to an icon.
Options:

| % oOpen a group window

- « minimise a window

=z # maximise a window

4 % restore a window

Question Number : 46 Question Id : 820051759 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TH fOeSr & AEFT a9 & AT

Options:

l_wwaﬁﬁlﬁ’r@ﬂﬁ%

. v = Fr s = f
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Question Number : 47 Question Id : 820051760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Fora llliCI‘GphDIlE to work on your computer. it must POssess

Options:
1 # Ethemet

> % NIC
= + Sound Card
4 % Graphic Card

Question Number : 47 Question Id : 820051760 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
FYET T T ASH F FHH A & [0, 385 g =fRT]

Options:

1.36?"47?'?

=~ % NIC
s_ym?ﬂ%
4 % TRF FTE

Question Number : 48 Question Id : 820051761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Consider the following statements and select the correct alternative which are given
below:

1. Both read and write operations can be performed in RAM.

2. RAM is a volatile memory.
Options:
1. Both 1 and 2 are correct

> % Only 1 is correct
= % Only 2 is correct

4 #% Neither 1 nor 2 is correct

Question Number : 48 Question Id : 820051761 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fr=faf@a arar &t 9¢ va d Gw o0 7 ¥ | @weT &1 gaE
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2.RAM Fremeser #ANT &

Options:
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Question Number : 49 Question Id : 820051762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
To contact people using internet, you most often use their

Options:
1 % domain names

= « e-mail address
=z # Usernames
4 % Passwords

Question Number : 49 Question Id : 820051762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

grclele 9 AN § S o T, 31T HFH 3 TR F:T
gl

Options:
1 % BIHA AT &I

> v $-A UZH H
. x ISAR F
4 % TTHIS FT

Question Number : 50 Question Id : 820051763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is not a pointing device?

Options:
1 # Mouse

> % Joystick
= % Light pen
4 « Keyboard

Question Number : 50 Question Id : 820051763 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A=faf@a & o #iF a1 arsfesr 39T A8 87

Options:
1 #® HISH

g_ﬂm
5 % olgeds
4,9’@@%



Question Number : 51 Question Id : 820051764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FTP is basically a.

Options:

1 « Setofrules (protocols)
- % Language

= % Web Browser

4 % Web Page

Question Number : 51 Question Id : 820051764 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FTP Ao 9 & % gl

Options:

. T@Far @ @ (protocols) &
L

2. 9 £
4_%333"51?

Question Number : 52 Question Id : 820051765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What type of network connection is not a way of connecting to the Internet?

Options:
1. & TCP/P

5 % Dial-up
= #% UDP
4 % POP

Question Number : 52 Question Id : 820051765 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

frrafof@a & & Acas FaFaa # Fa T TFH AT § S HT Jen
e 87
Options:

1.+ TEPAP
» w Dial-up
3 % UDP
4 % POP

READING COMPREHEMNSION



Section Id : 82005176

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questions to be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 82005176
Question Shuffling Allowed : Yes

Question Id : 820051766 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)

Cuestion Label : Comprehension

Progress in life depends a good deal on crossing one threshold after another. Some
time ago a man watched his little nephew try to write his name. It was hard work. very
hard work. The little boy had arrived at an effort threshold. Today, he writes his name
with comparative ease. No new threshold confronts him. This is the way with all of us.
As soon as we cross one threshold, as soon as we conquer one difficulty. a new
difficulty appears or should appear. People make the mistake of steering clear of
thresholds. Anything that requires genuine thinking and use of energy they avoid.
They prefer to stay in a rut where thresholds are not met. Probably. they have been at
their job for number of years. Things are easy for them. They make no efforts to seek
out new obstacles to overcome. Real progress stops under such circumstances. Some
middle aged and elderly people greatly enrich their lives by continuing to cross the
thresholds. One man went into an entirely new business when he was past middle life
and made a success of it. De Morgan didn’t start to write novel until he was past sixty.
Psychologists have discovered that man can continue to learn throughout life. And it is
undoubtedly better to try and fail then not to try at all. There one can be placed in the
category of the Swiss mountaineer of whom it was said. “He died climbing.” Accept
the challenge. Determine to cross this threshold as you have crossed numerous
thresholds in your past life. In the words of the poet, do not rest but strive to pass from
dream to grander dreams.

Sub questions

Question Number : 53 Question Id : 820051767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does progress in life depend upon?

Options:
1 % Good habits

> # Hard work
=  Overcoming one difficulty after another

4 % Spirit of service and cooperation



Question Number : 54 Question Id : 820051768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What should we do when a new difficulty confronts us?

Options:

1 % Runaway from it

> « Be bold and face it

= % Manoeuvre to get it removed

4 % Enlist other people’s help to get it over

Question Number : 55 Question Id : 820051769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does “He died climbing™ signify?

Options:
1 = He died when he was climbing the hill
- # He died before getting at the top

= « He strove hard till the last moment of life.
4 % He climbed the hill and then died

Question Number : 56 Question Id : 820051770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How can you accomplish the most difficult of tasks?

Options:

, % By mobilizing all possible resources
> % By avoiding all obstacles

= « BY sticking to hard work

4 % By getting other people to do your work for you

Question Number : 57 Question Id : 820051771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When did De Morgan start to write?

Options:
1 « When he was over sixty

> % When he was below sixty
= ® When he studied psychology

4 % When he was a student

Question Id : 820051766 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Juestion Label | Comprehension
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Sub questions

Question Number : 53 Question Id : 820051767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 820051768 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 820051769 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 820051770 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

HT TIH Hiod FAT F off FH [ FT Tohd 82
Options:
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Question Number : 57 Question Id : 820051771 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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QUANTITATIVE AFPTITULE
Section Id : 82005177



Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 82005177
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 820051772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If x = 1 and x" = 1, then the possible value of n is

Options:
1. % 1
>« 0
3 % oo

4 ® 2

Question Number : 58 Question Id : 820051772 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

afE x > 1 3R x= = 1, @ n I TRT A F4@T I
Options:

1% 1

> o 0

= ® o

4 ® Y2

Question Number : 59 Question Id : 820051773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many terms are there in A.P.: 20, 25, 30, .... 130?

Options:
1 8 22
> o 23
3. % 21
4 % 24

Question Number : 59 Question Id : 820051773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
HeeTTOTeT FAR 4ofr (ALP.) 20, 25, 30, .., 130 & For fFa=t 7g 82

Options:



1 ® 22
o o 23
3. % 21
4 % 24

Question Number : 60 Question Id : 820051774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A 10 m long ladder is placed against a wall. It is inclined at an angle of 60° from the

ground. The height (in m) of the wall up to which the top end of ladder touches is:
Options:

1. % 8.24

> + 8.60

z % 7.36

4 % 6.86

Question Number : 60 Question Id : 820051774 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1. % 8.24
> « 8.66
3 % 7.36
4 % 6.86

Question Number : 61 Question Id : 820051775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The areas of two similar triangles are 9 cm? and 16 cm? respectively. Find the ratio of
their corresponding sides.

Options:

1. WA

8

| o T =
ST U

o %

N
Lh

4 ®

Question Number : 61 Question Id : 820051775 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



1\;.-"34

2_&34:3
3%&23
4 % 4 :5

Question Number : 62 Question Id : 820051776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In two similar triangles.

Options:
1 = Corresponding angles are different.

- # Corresponding sides are same
=  Corresponding sides are in the same ratio
4 % Any two of the sides are equal in length

Question Number : 62 Question Id : 820051776 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 63 Question Id : 820051777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
For a <0, b <0, the expression a> +ab + b

Options:
1. % 0

> # <0
3 W =0
4 % =0

Question Number : 63 Question Id : 820051777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

a<0, b<0 % T T35 (expression) a® + ab + b? g
Options:

1. % =0

2_36"-:0
z o >0



GEMERAL MENTAL ABILITY AND REASONING

Section Id : 82005178

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questions to be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 82005178
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 820051778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pick up the alternative that best illustrates the given relationship.

Madhya Pradesh:Jabalpur

Options:
1 » Gujarat: Gandhinagar

®

E

- % Rajasthan: Ajmer
3

#

Uttar Pradesh: Varanasi
4 + Chhattisgarh: Bilaspur

Question Number : 64 Question Id : 820051778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 820051779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



ZAJ. YBK. XCL, WDM. "'
Options:

1.« VEN

> ® VFM

z. # VEM

4 % VNO

Question Number : 65 Question Id : 820051779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ZAJ, YBK, XCL, WDM,

Options:

1.+ VEN
> % VFM
z. % VEM
4 % VNO

Question Number : 66 Question Id : 820051780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pointing towards a photograph. Harshit's mother Shailja told, "She
1s the daughter of the only son of your grandfather.” If Shailja is the
daughter-in-law of Harshit’s grandfather. what could be the possible
relation of Shailja with the girl in the photograph?

Options:
1+« Mother

- % Mother-in-law
=z # Sister
4 #% Sister-in-law

Question Number : 66 Question Id : 820051780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 ¥ Fﬁ
2. % HE
3. % Sgo1
4 % T

Question Number : 67 Question Id : 820051781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Which number replaces the “?” in the given series?
4.6, 10,16, 24 'Y

Options:
1.9 34

> # 40
3 % 28
4 % 30

Question Number : 67 Question Id : 820051781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A=y & o Auf & " F U W T O T e
4 8. 10 16 24 7

Options:

1« 34
> # 40
z % 28
4 % 30

Question Number : 68 Question Id : 820051782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ramesh moved 5 km towards North. He then took a left turn and moved 12 ki ahead.
How much is he displaced from his original position?

Options:
1. % 17 km

> # 7km
z & 13 ki
4 % 12 km

Question Number : 68 Question Id : 820051782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1% 17 @A
> % 7 &AL
= « 13 B
4 ® 12 AL

Question Number : 69 Question Id : 820051783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Study the following bar graph carefully and answer the following questions (Graph
shows the number of production of electronic items (TVs and LCDs) in a factory
during the period from 2009 to 2013)
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The ratio of production of TVs in year 2009 and 2010 is
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Options:
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Question Number : 69 Question Id : 820051783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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The Comptroller and Auditor General (CAG) of India is appointed by the president

Options:
;  For five years

»» For six years
% Till sixty years of age

% Till sixty two years of age
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Which country was declared Ebola-free by WHO on May 97

Options:

1.+ Liberia

> % Nigeria

=z # Somalia
4 % Zimbabwe
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Which of the following movement was called off after the Chaura-Chauri incident?
Options:
1« Non-Cooperation Movement

> # Khilafat Movment
= % Quit India Movement

4 % Civil Disobedience Movement
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Rourkela Steel Plant was set up with the assistance from

Options:
1 # Soviet Union

> % Britain
3. % USA
4 « West Germany
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Which of the following diseases is caused due to the deficiency of Vitamin B?

Options:



; = Night Blindness
> « Beri-Beri

3 % Rickets

4 ® Scurvy
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Options:

. » AT (Night Blindness)
o  FU-T (Beri-Beri)

- » @cd (Rickets)

4 R TRat (Scurvy)
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Which amongst the following cities has recently earned the position of being the
cleanest city of India as per the Swachh Bharat rankings 20157

Options:
1 # Chennai

> % Chandigarh
2 « Mysore
4 % Bengaluru
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The basic purpose of the Mission is to put in place a dedicated and sensitive support structure from the state
lewel to the sub-district level, which will focus on the poor & marginalized, build and sustain their
organizations at different levels. This will provide the poor & marginalized with a platform for collective action
based on self-help, thrift and mutual cooperation. The programune will also build linkages with mainstream
institutions, including banks, resource institutions and Government departrments to address various
dimensions of poverty. For effective implementation of the mission, an independent society has been created
at the state level and has been registered under the Societies Registration Act 1280, The project with a funding
of 50 million Euros shall be implemented in a phased manner, initially piloting approaches and activities in
select districts and identifying what works and what does not. The successful approaches will be scaled up in
a phased manner to all districts. For the initial launching of the mission a total of ten districts hawve beern
identified as the pilot. These districts have been identified on the basis of their geographical location, ranking
on the HDI index and performance on other key social indicators The state has a long history of people's
movernent's, aggregation for rights or most importantly for community management of irnportant livelihood
resources such as water. Eroadly speaking, people's efforts at collectivization for livelihood prormotion can be
grouped into two distinct categories. The first being formal which includes the cooperative sector and includes
entities that are registered under a state law, the second category consists of the emergence of thrift and credit
based collectives which are of more recent origin. COne of the major distinct features of these institutions is the
involvermnent of women. It is almost as if the self-help group mowernent is of, by and for the women. & third
possible category may consist of aggregation platforms /collectives such as Mahila Mandals, Developrment
Metworls [Vikas Manch headed by the civil society, These institutions have played an important role in
corrrmunity mobdlization around important issues that affect their rights and entitlements. However, from the
point of wiew of livelihood promotion we intend to look at the first two categories viz. the formal cooperative
sector and the self-help sector.
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